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Q.No: 1 In which of the following states is the Kummi (derived from the word ‘Kommai‘) dance very popular?
2419258

P A a9 § ol (Fd wes o) T 959 dienE 87
Uttar Pradesh

A
TR
Tamil Nadu
B
BLLERIS]
Tripura
o
gz
Rajasthan
D
TR

Correct Ans : B

Subject : General Knowledge

Q.No: 2 Which of the following is the name of an ancient Indian musical instrument similar to kettledrum?
2419262

FrafifEa § 9 o 9 Seagd $ 999 0 WA YR Wi aerE &AW 87
A Muraja
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Ly

Nanthuni

TR

Taus

i

Tambura
By

Correct Ans : A

Subject : General Knowledge

Q.No: 3 Which of the following is the name Radhika Mohan Moitra (1917-1984) or Radhu-babu associated with?

2419269
T T HigA (1917-1984) T Y-w1g 7 M Frafuiea & ¥ fred 997 87
Singing
A
e
Sarod
B
W
Sitar
C
R
Esraj
D
TR

Correct Ans : B

Subject : General Knowledge
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Q.No: 4 The Qaleenbaft (or Qalambaft) gharana originated from the region of -
2419273

PIAET (T FerET) T g &7 § I gamr

Hyderabad
A
IWEG
Kashmir
B
FTR
Murshidabad
o
aRferae
Lakshadweep
D
U]

Correct Ans : B

Subject : General Knowledge

Q.No: 5  Seve Ballesteros is a golfer from which country?
2419411

9 A Y 3 F R §
England

A
USA

B
YT e AT

Cc Spain
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T

France

wig
Correct Ans : C

Subject : General Knowledge

Q.No: 6  Which national team does Gareth Bale play for?
2419414

iRy 0 e wiga A & Rrg e 27
Italy

Tedt

Wales

France

Wi

Belgium

Afeoram

Correct Ans : B
Subject : General Knowledge

Q.No: 7 What was India’s rank in the Tokyo 2020 Olympics on the medal tally?
2419428

QT 2020 Al o TeH ST T YR F1 R 91 U417
41st

4149
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45th
B

45 %

48th
c

48 d

5ist
)

51¢d

Correct Ans : C

Subject : General Knowledge

Q.No: 8 The motion of the earth around the sun in its orbit is known as which of the following?

2419483
St e T g F TR &R gudl B iy w Fofalea @ feed w g o e g2
Revolution
A
afeBHm
Rotation
B
H
Orbital Plane
C
wafa wHaa
Circle of Illumination
D

ytfr s
Correct Ans @ A

Subject : General Knowledge

Q.No: 9 Which of the following is the highest plateau in the world?
2419496
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Frafefea & 3 w-w Ry 31 999 1 ToR 87

The Deccan Plateau
A

GFP BT USSR

Western plateau of Australia
B

sifeeferar #1 ufindt wsR

East African Plateau in Kenya
C

e § g et woR

The Tibet Plateau
D

foreaa o1 1B

Correct Ans : D

Subject : General Knowledge

Q.No: 10 Which of the following amendments was made to provide a common framework for the structure and mandate of urban local bodies in States?
2419722

It A T R AR ) SR SR Sew F e U wm o vl eRA & e el 3 @ o e wxiya e

73® Amendment Act
A

73ai =iy sififam

74% Amendment Act
B

74at A sifufrw

86® Amendment Act
Cc

s6at Wiy sifufrs
D 892 Amendment Act
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s9af ity sifufs
Correct Ans : B

Subject : General Knowledge

Q.No: 11 The National Commission to review the working of the Constitution was set up under which of the following retired Judges?
2419748

<R F FHeT Bl qllel F T A mdn # wig Fafied 3§ 3 e JaRee e & sl 9 g 9

Justice Venkatachaliah

A
armfd Seeasar
Justice J.S. Verma
B
=aragfd 9w, aaf
Justice M.M. Punchhi
c
arfd .. get
Justice B.N. Kirpal
D

rfd e, farura
Correct Ans : A

Subject : General Knowledge

Q.No: 12 Cauvery Water Dispute is between which of the following States?
2419769

FHadl o faae e # @ e T Fdw @

Tamil Nadu and Karnataka

A
qiterg SR Flew
B Karnataka and Maharashtra
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Tt SR HERIY

Maharashtra and Madhya Pradesh
Cc

AFRIY SR e wam

Tamil Nadu and Andhra Pradesh
D

aftrermTg ST sy W
Correct Ans @ A

Subject : General Knowledge

Q.No: 13 Who among the following was the Chief architect of the Second Five Year Plan?
2419772

Fofefea & § w1 g vaadfa D & 7= Jues 92

K.N. Raj
A

F. . T

John Mathai
B

S T

P. C. Mahalanobis
C

b, 91, AeTeHiEE

Shanmukham Chetty
D

A T
Correct Ans : C

Subject : General Knowledge

Q.No: 14 As per the Census 2011, what is the papulation of Madhya Pradesh?
2419970
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2011 T SRIVA ¥ SFIER TeT 2R F e et 87

9.64 crores

A
9.64 FRIT
8.54 crores
B
8.54 TS
7.27 crores
[of
7.27 TS
6.39 crores
D

6.39 BRIS

Correct Ans : C

Subject : General Knowledge

Q.No: 15 QOut of the four alternatives, choose the one which can be substituted for the given words/sentence.

2ai71od A short piece of writing or a poem about a dead person, especially one written on their gravestone.
A Epitaph

B Pyre

o) Post-mortem

D Shroud

Correct Ans : A

Subject : General English

Q.No: 16 Out of the given options, choose the most appropriate one to fill in the blank.

2571341
She the shoes from right under the assistant’s nose.
A stole
B have stole
C have steal
D has steal
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Correct Ans : A

Subject : General English

Q.No: 17 Out of the given options, choose the most appropriate one to fill in the blank.

2571355
He his fingers.
A burnt
B have burn
C have burnt
D has burn

Correct Ans : A
Subject : General English

Q.No: 18 Out of the given options, choose the most appropriate one to fill in the blank.

2571368
A policeman the thief.
A caught
B have caught
C have catch
D has catch

Correct Ans : A
Subject : General English

Q.No: 19 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options, choose the one which can be substituted for the
2571370 gjyen phrasal Verb.

The discovery of Penicillin was a major breakthrough in the field of medicine
A an insignificant discovery
B big achievement
(o a controversial discovery
D suspension
Correct Ans : B
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Subject : General English

Q.No: 20 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options, choose the one which can be substituted for the
2571371 gjven phrasal Verb.

We had to break open the main door because the keys got misplaced by someone.
A sharpen

B cut

C burn

D open with force
Correct Ans : D

Subject : General English

Q.No: 21 Out of the given options, choose the most appropriate one to fill in the blank.

2571413
After a long careers with the company, she _______to the position of chief executive.
A has risen
B have rise
c has rise
D have rose

Correct Ans : A

Subject : General English

Q.No: 22 Select the correct passive form of the given sentence.
2581197

Do not park your car in front of my house.

Your car need not be parked in front of my house.
Your car should not be parked in front of my house.

Your car could not be parked in front of my house.

g 0O W >

My house should not be parked in front of your car.
Correct Ans : B

Subject : General English
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Q.No: 23 DIRECTIONS: In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve
2581300 he sentence. Choose the correct alternative. In case no improvement is required, choose "No Improvement” option.

Shoojit’s opinion of the movie is that it will win this prestigious award.
A opinion about the movie
B opinion on the movie
Cc opinion with the movie
D No Improvement
Correct Ans : D
Subject : General English

Q.No: 24 DIRECTIONS: In the following question, a part of the sentence/sentence is underlined. Below are given alternatives to the underlined part which may
2581314 improve the sentence. Choose the correct alternative. In case no improvement is required, choose “*No Improvement” option.

Much water are wasted by the people.

A has wasted

B were wasted

C is wasted

D No improvement

Correct Ans : C

Subject : General English

Q.No: 25 DIRECTIONS: In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve
2581320 the sentence. Choose the correct alternative. In case no improvement is required, choose “No Improvement” option.

Everyone from the Vincet family are here, now we should start the ceremony.
A Each from the Vincet family are
B Everyone of the Vincet family is
c Everyone from the Vincet family is
D No Improvement
Correct Ans : C

Subject : General English
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Q.No: 26 DIRECTIONS: In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve
2581321 the sentence. Choose the correct alternative. In case no improvement is required, choose "No Improvement” option.

Every time I move in a lift to my apartment on thirteenth floor, I think of the horror stories related to it.

A take a lift

B go in a lift

C go up in a lift

D No improvement

Correct Ans : A
Subject : General English

Q.No: 27 DIRECTIONS: Read the sentence to find out whether there is any grammatical mistake/error in it. The error, if any, will be in one part of the sentence.
2581360 Mark that part as your answer. If the sentence is correct, mark (4) (no error) as your answer. (Ignore the errors of punctuation, if any).

Jai was quite amusing when he (1)/heard what (2)/had happened. (3)/No error (4)
A 1
B 2
o 3
D 4
Correct Ans : A

Subject : General English

Q.No: 28 DIRECTIONS: Read the sentence to find out whether there is any grammatical mistake/error in it. The error, if any, will be in one part of the sentence.
2581375 Mark that part as your answer If the sentence Is correct, mark (4) (no error) as your answer. (Ignore the errors of punctuation, if any).

After a few minutes, I looked up (1)/and saw that all the birds are flying (2)/high up in the sky (3)/No error (4)
1

2
3
4

o 0 .o >

Correct Ans : B
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Subject : General English

Q.No: 29 DIRECTIONS: Read the sentence to find out whether there is any grammatical mistake/error in it. The error, if any, will be in one part of the sentence.
2581376 Mark that part as your answer. If the sentence is correct, mark (4) {no error) as your answer. (Ignore the errors of punctuation, if any).

They all believed that (1)/regular practice had helped the boy (2)/become best singer in his class (3)/No error (4)
1

A

B 2
[ 3
D a
Correct Ans : C

Subject : General English

Q.No: 30 Which of the following is unidirectional flow of current?

2420238
Frofefea & 9 31 um 71 e vaE g2
Direct Current
A
WS URT
Alternating Current
B
WRTdd! YR
Induced Current
Cc
piich o
Magnetic Current
D

YT URT
Correct Ans : A

Subject : General Science
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Q.No: 31  Which of the following is treated as real object?

2420263

Frofefea & § fod arafas ag 7T o1 82

The point object from where the incident rays diverge
A

a5 fig avg wIet @ snofoe fso} Rae ol §

The point where the incident rays would meet if there were no mirror.
B

a7 fiig w7et <dor 1 9 wv armufee foreot firardi

The point where the incident rays would never appears to meet.
C

a5 fig Wt enufea fameot et firedt g =8 famd fh

The point where image/jpg is always large and erect
D

a5 fig ot whifawa gt e oy Wen grar @
Correct Ans : A

Subject : General Science

Q.No: 32 Which of the following is NOT present in waste water from industries?

2420415
Faffea 3 9 ®1 IE % 3uRE 9@ § Higg T e
Heavy metals
A
T g
Organic compounds
B
FTfE A
Both heavy metals and organic compounds
C
HId uTg o B e gt
D Neither heavy metals nor organic compounds
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A urlt u1g oik 71 & wrifaw e

Correct Ans : D

Subject : General Science

Q.No: 33 Frost point is a temperature that is below —

2420436

foais ffgagammes ____ dsmdas-

32°F
A

32°F

40°F
B

40°F

35°F
c

35°F

38°F
D

38°F

Correct Ans : A

Subject : General Science

Q.No: 34 Which one of the following diseases does NOT have a vaccine till date?
2420547

FafiEa 7 3 & 3 a1 onft 7 315 dar T 87

HIV/AIDS
A
Ta.md. / TEw
B Rubella
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Ll
Hepatitis B
c
siesfew @
Measles
D
Ecrintd

Correct Ans : A

Subject : General Science

QNo: 35 Yyhat is Vitamin B called?

2420568
faerfaer & frdy g §2
Niacin
A
Frafe
Thiamine
B
L CiE]
Riboflavin
C
RIEEILSICES

Cyanocobalamin

GIEEIER G

Correct Ans : B

Subject : General Science

Q.No: 36 Why is Sodium kept immersed in Kerosene Qil?
2420681
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Hifsam i frgh & o & i wufew R s &2
Because it is highly inflammable
A
il T Srafie saaie 8
Because it is highly reactive
B
wiif ue srafie ufofrarda ¢
Because it is low reactive
C
il ug F0 vl §
Because it is highly flammable
D

i g sreafie saomRie €
Correct Ans : B

Subject : General Science

Q.No: 37 If a room catches fire and you have the following chemicals in dry powder form. Which of the following would you use to help in extinguishing the fire?
2420704

SR et oy & 3T T ell € SR S0 U GE Tee] & w0 # Fafife e €1 om 9o F o fefifed # § et v e

Baking soda
A
ST HeT
Milk powder
B
[FURICETS
Acetone
[o
LG )
Flour
D
STeT
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Correct Ans : A

Subject : General Science

Q.No: 38 Incomplete combustion of fuels gives -

2420706
$eF T AT TE & @ -
Carbon dioxide
A
FHA SRHFIES
Carbon monoxide
B
B HFHTEES
Ozone
[o
Sl
Nitrogen
D
e

Correct Ans : B

Subject : General Science

Q.No: 39 Which of the following is NOT a writing written by Neils Bohr?

2420733
FroffEa § 9 #1 91 ia 9w F1 a6 T
The Theory of Spectra and Atomic Constitution

A
T AR 3T Wag (3 e SRR (e R T 3 1 Rigi)
Atomic theory to quantum theory

B
e it (R R
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The description of nature to early work

T [BReram i R (i @1 faawon)

The Corpuscular Theory of Matter

T HUTPR EN 3 Hex (g1l @) i g
Correct Ans : D

Subject : General Science

Q.No: 40 Which of the following process prevents the growth of micrebes in milk?

2420930
FafafEa 3 4 o9 9 vihan gy § gaaeldl & e $1 Al g2
Fermentation
A
Frvas
Cellular respiration
B
BRI o
Anaerobic respiration
Cc
SATgT
Pasteurisation
D

qregiERm

Correct Ans : D

Subject : General Science

Q.No: 41 The cutting of crop after it matures is called as which of the following?
2420934

A & IRUF 9 F 918 IUST Fers B FoiiRad & S 7 51 o 82
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Ploughing
A

Tar

Sowing
B

a8

Winnowing
[o

Eas

Harvesting
D

weR

Correct Ans : D

Subject : General Science

Q.No: 42 Goitre is a disease of which of the following glands?

2420970
“fag’ (G ) T Praffr i i fer T e
Pituitary gland
A
Ty wfy
Pineal gland
B
Hierae 7t
Thyroid gland
(o
YIRTTS TR
Parathyroid gland
D

RrurRigs Wy
Correct Ans : C
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Subject : General Science

Q.No: 43 Which of the following hormones helps the body to adjust to stress when one is very angry, embarrassed or worried?

2420971
Frafef@d § 3 31 91 e R 3 T § FERRe e J Tee SR § 99 B aga w1, Wi ar i m g
Melatonin
A
AR
Progesterone
B
TSR
Insulin
C
gt
Adrenalin
D
TR

Correct Ans : D

Subject : General Science

Q.No: 44 Which ports connect special types of music instruments to sound cards?

2411702
P T O wf F1E ¥ fw ALy veR F Wi SueRil B shed &2
BUS
A
BUS
UPs
B
upPs
C usB
https:fimppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 221111

Page 22



4/23/23, 10:45 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

USsB
MIDI

MIDI
Correct Ans : D

Subject : General Computer

Q.No: 45 The speed of the data transmission in the networks is calculated by

2411726
oo i 31 grafte i T BIRT O Y SR B
Bits/Sec
A
few/&Fs (Bits/Sec)
GB/hr
B
St/ der (6B/hr)
KB/hr
o
Pt/ ucT (KB/hr)
MB/sec
D
Tt/ TS (MB/sec)

Correct Ans : A

Subject : General Computer

Q.No: 46  What is the extension to save power point document?
2411734

IRUTSE ST 1 WeoT P AR =0 52
A .doc
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Correct Ans : D

Subject : General Computer

Q.No: 47 FAT maintained by OS on a hard disk that provides a map of clusters (logical units of storage) that a file has been stored. What does A represents?

2411739

Sﬁﬁ%ﬁﬁmmmmwmﬁwm, Tt Fee (TN B A gH1eah) Bl T AN WM Sl &, For 05 BRa ! S0Ei o o &1 A &0
?

Allotment

A
3faiede (Allotment)
Allocation

B
QaIHRH (Allocation)
Amount

C
SMNT (Amount)
Adopt

D
ISTE (Adopt)

Correct Ans : B

Subject : General Computer
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Q.No: 48 The programs which are as permanent as hardware and stored in ROM is known as _____

2411746

T S §IEAR  FUH W § IR ROM AW S, FFUA G A gl

Hardware
A

T

Hard disk
B

w3 R

Software
C

|IEIwR

Firmware
D

BHIT

Correct Ans : D

Subject : General Computer

Q.No: 49  What is the major feature of the world wide web, that make it simple to learn and use?

2411798
TES A15S 39 1 Wi Ak g4 §, o W SR STh S S S 87
Database interface
A
eI $eThd
Graphical user interface
B
TfEed ToR §eREd
C Graphical text interface
https:fimppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 25(111
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Titrrd TRT S

Point-to-point interface
ozl T

Correct Ans : B

Subject : General Computer

Q.NO: 50 PARAM iS @ .oovcrereermmessmsmnsnssninsnnen

2411883
PARAM T ...oovcrivsimasisssesssnss S
Microcomputer
A
AT FER
Minicomputer
B
firfidages
Mainframe Computer
[o
TP FUER
Supercomputer
D
PR

Correct Ans : D
Subject : General Computer

Q.No: 51 What is the correct syntax for typing a function into a cell?
2411890

Fer & it e @Y ogd B ¥ forg et Rt @ 82

A Equal sign, Function Name, Matching brackets
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A g, w1 -, s Fige

Function Name, Equal sign, Matching brackets
B

FF T A, 9 g, e we ard See

Equal sign, Matching brackets, Function Name
Cc

v R, e w0 ard f¥e, wee am

None of the given options
D

o e faeedt A & 1%

Correct Ans : A

Subject : General Computer

Q.No: 52 is made up of metal disk and coated with metal oxide used to store bulk data?
2411902

o1 8% § 11 8l 2 9k 1 (bulk )32 ©R 37 & R TG uTg siawss & Wy afva g &2

Floppy Disk
A
A fEw
Hard Disk
B
e fevw
Compact Disk
G
Hiree v
Blue-Ray Disk
D
=X foer

Correct Ans : B
Subject : General Computer
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Q.No: 53 What is the full form of SSL in Network Security?

2411905
Ao e F SSL 71 gui =Y 7 72
Safety Sockets Layer
A
A ide T
Secure Sockets Layer
B
R dide o
Safety Security Layer
[o
Jr Rrerdifid) aem
Security Summarized Layer
D

R amEs e
Correct Ans : B

Subject : General Computer

Q.No: 54 .Net is a programming framework developed by

2411922
Net T HfH g1 3 o a1 R fam R
Google
A
Ry
Microsoft
B
HISH AT
c IBM
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3. e,
Apple

T
Correct Ans : B

Subject : General Computer

Q.No: 55 Which of the following shortcut keys is used to create a chart in MS Excel?
2412180

AT T ® 91 9T & fore o 3 9 5 OidEe I (keys) ST IUGRT fan ST 82

Ctrl +;
A
Ctrl +;
Ctrl + Shift +;
B
Ctrl + Shift +;
F2
[o
F2
Fi1
D
Fi1

Correct Ans : D

Subject : General Computer

(224'\102 45367 Match the following:
List-I List-II
() MS-DOS () Utility software
(i) Antivirus (b) System software
(iii) Firefox (c) Operating System
(d) Application software
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Tt ESis
(i) MS-DOS
(i) AT (o) Tf= ot mtreaae
(iii) TATEFA () P Atz
(c) st ey
(d) TeATERS AT AT

(1)-(a), (ii)-(d), (iii)-(b)

A
(i)-(a), (ii)-{d), (iii)-(b)
(i)-(c), (ii)-(a), (iii}-(d)
B
(D)-(c), (ii)-(a), (iii)-(d)
()-(b), (ii)-(d), (iii)-(a)
C
(i)-(b), (ii)-(d), (iii)-(a)
(i)-(d), (ii)-(a), (iii)-(c)
D

(1)-(d), (ii)-(a), (iii)-(c)
Correct Ans : B

Subject : General Computer

Q.No: 57 An input device is any hardware device that sends data to a computer. Which among the following is NOT an input device?

2412448
Fqe féarga foreht oft U &1 U 518aE dem farmw €, & $ogee &1 32 fiwi 91 Fufafad # 4 oh-w1 oo e feamw T 8
Mouse
A
A
Scanners
B
T
C Keyboard
https:fimppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 30/111

Page 30



4/23/23, 10:45 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

T

Monitor

AR

Correct Ans : D

Subject : General Computer

Q.No: 58 Find the wrong term in the series given below:

2417585
PJOF, XRWN, FZEV, NHND, VPUL
< T s A I Ug I I
PIOF, XRWN, FZEV, NHND, VPUL
XRWN

A
XRWN
FZEV

B
FZEV
NHND

c
NHND
VPUL

D
vPUL

Correct Ans : C

Subject : General Reasoning

Q.No: 59 Find the wrong term in the series given below.
2417588

DKT, EIW, FGT, GEW, HCS
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9 < 77w B I e T Fi)

DKT, EIW, FGT, GEW, HCS

EIW
A

EIW

FGT
B

FGT

GEW
C

GEW

HCS
D

HCS

Correct Ans : D

Subject : General Reasoning

Q.No: 60 In the following guestion, select the odd letters from the given alternatives.

2417671
73 T #, fom u oy & 9 e sarl @1 95T R
0sQu
A
osQu
JNLO
B
JNLO
BFDH
Cc
BFDH
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IMKO

IMKO
Correct Ans : B

Subject : General Reasoning

Q.No: 61 In the following question, select the related letters from the given alternatives.
2417743 KDL : XIGH :: DIHS : ?

T ued A, f&u v fadheal # § 499 HaRT &1 9497 H|
WKDL : XIGH :: DIHS: ?

GEKO
A

GEKO

EGKO
B

EGKO

0GGK
C

0GGK

OEGE
D

OEGE

Correct Ans : B

Subject : General Reasoning

Q.No: 62 If GEAR is coded as 57181, LAMP is coded as 1121613 then how will FOREST be coded as?
2417870

If& GEAR @1 57181 F &Y § FIS 501 oIl &, LAMP 97 1121613 & w0 & $ifSd 501 w11 €, @ FOREST &1 H4 Sifsd fvan s

A 1565182019
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1565182019
1651820196

1651820196
1556182019

1556182019
1665820186

1665820186
Correct Ans : A

Subject : General Reasoning

Q.No: 63 In a certain code language, MATCH is coded as 72863 BIT is coded as 958 then how will HABIT be coded as?
2417872

& AT S8 W #, MATCH &1 72863 & &0 & F3d 591 91 8, BIT &F 958 & wu & $IfSa e rm 8, & HABIT &t &3 Fifed v st

32859
A

32859

78523
B

78523

68253
C

68253

32958
D

32958

Correct Ans : D

Subject : General Reasoning
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Q.No: 64 In a certain code language, '"HOWL' is coded as '6145', 'CARE' is coded as '7328' then how will be ORACLE coded as?

2417873
o i wrs um #, 'HOWL' T1'6145', 'CARE ®Y 7328' & &0 & Siifed e I &, At ORACLE #1 3 wifea forar smoem
123758
A
123758
142653
B
142653
368253
c
368253
437285
D
437285

Correct Ans : A

Subject : General Reasoning

Q.No: 65 P has to move toward south in order to reach N and towards east in order to reach R, who is to the north of Q. P and R have to travel in north-east and
2417923 porth-west directions respectively in order to reach L. In which direction L must travel in order to reach Q?

PHRINTF IR F ARG T AR TN MR TG EHA FFA AW S AR A S, W1 Q HF IR AR P IR R FT L 7F Ug97 & w0 H§ HH: SW-0d 3R SW-
Ui & gmE FE R L B Q TF g & HH A 5 i # ann s afewr

Seouth

A
Eiu
South-east

B
-

C South-west
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Correct Ans : B

Subject : General Reasoning

%"107:96556 If 86 + 6 - 10 =3 and 66 + 8 - 10 = 2, then in the expression 65 + 6 - Z = 2, what is the value of
7

AREBE+6-10=3 366+ 8-10=28 HNAFH 65 +6-Z =23, ‘Z’ FTHT T &7

6
A

6

5
B

5

9
[

4
D

a4

Correct Ans : C

Subject : General Reasoning

QNo: 67 If3&17+28=2 and6 & 10+ 30 =7.5, then in the expression 4 & 22 + 36 = A, what is the value
2417957 of ‘A™
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qME3 & 17+28=2 36 & 10+30="7.5§, cl chleh 4 & 22+36 = A H ‘A" T A &1 §?

4
A

a
B

L]

1
C

1

2
D

2

Correct Ans : D

Subject : General Reasoning

QNo:68 If1*2+3=-1and2*3+4=2,theninthe expression X * 4 + 2 =22, what is the value of
2417962 X7

gie1%2+3=-1 3R2*3+4=2% AAAR X *4 +2 =22, ‘X" & A Toheell &7

12
A

12

10
B

10

8
[o

8
D 6
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6
Correct Ans : D

Subject : General Reasoning

%'Nlcg 0?0 If A means ‘+’, B means ‘x’, C means ‘+’, D means ‘-, then the value of given equation will be:

9A2B6D4C2

ofg A @13+ B, B @I 3 o B, c o1 3f - B, D 7 3ef — B FRmfeRaa wrfteor o v samsY
9A2B6DAC2

16

16
19

19
27

27
30

30
Correct Ans : B

Subject : General Reasoning

Q.No: 70 Ram ranks sixtgenth from the top‘and_ fifteenth from the bottom in a certain examination. How many students are there in the class?

2421053 O R wden & T &1 W AR T dseal ok i A Gieeai 81 Iue e § R @ a e et g

30

» 30

31

B 31

32

¢ 32
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33

o 33

Correct Ans : A

Subject : General Reasoning

Q.No: 71 Five people are sitting in a row facing north. Y is at the left of X. W is sitting at the right of Z. V is sitting at the right of X and W is sitting at the left of Y.
2421060 If Z is sitting at one end, who is in the middle?

gﬁﬁjﬁyﬁﬁ@gﬂ&ﬁmwmﬁﬁmx%ﬁm%l W, ZF 3 R IBA BIV, X F <1 oM oA R o W, ¥ F 1% ok Soa 81 AT Z U SR W a7
AL
B X
v
oW

Correct Ans : C

Subject : General Reasoning

Q.No: 72

i i i i ion?
2421545 What should comein place of the question mark (?) in the following question?

{(w529 + (6* ~ 18)}% of 800 =?% of 224

frafafEa w7 uyEme fug (7) & A R a1 3 afgu?
800 T {(/529 + (6 = 18)}% =224 B 7%

150
A

150

125
B

125

140
[o

140
D 175
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175
Correct Ans : B

Subject : General Maths

.No: 73 . 2 B 2
24201530 Ifa+-b+c=0thenwhat1sthevalueof:—c+C—a+:—b?

2 2 2
ARa+b+e=0TE + 2 + = AR FATE

ca

-3
A

-3

0
B

0

1
C

1

3
D

3

Correct Ans : D

Subject : General Maths

Q.No: 74 If a man pack 5 or 6 chikoos in each box, he is left with 3 chikoos. Also if he pack 8 or 9 chikoos in each box, he is left with 3 chikoos. Find the no. of
2421603 (hikoos that he had.

e TF e vdS S A 5 97 6 9 0% F € o 3 Fp q9 99 WA ) 9 98 8 W 9 i i 8F e § < 3 Ay Iy 99 9 &, A 91 I 5 A fran A g2

A 357
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357

363

363
183

183
177

177
Correct Ans : B

Subject : General Maths

Q.No: 75 What must be the least number of the students in a group such that they can be arranged in lines of 10, 15 and 25 independently and can also be
2421604 arranged in a square as a group?
Wwﬂﬁwﬁmwﬁm@,aﬁﬁ 10, 15 3R 25 F iRl § el T I FERT fF 91 9% 0 IRE U F F a1 F omer | off
FGRA o Hh?

600
600

9200
9200

3600
3600

1600
1600

Correct Ans : B

D

Subject : General Maths

Q.No: 76 What value must be given to * to make 8597*65 exactly divisible by 11?
2421649 TSN 8597*65 B * I WF W B A Tem & o1t omd w8 11§ gofa: wifem & sm

A

C

NN b NN OO

Correct Ans : D
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Subject : General Maths

%:“201:67879 In an examination, there are 80 multiple choice questions. For every correct answer, 3 marks awarded and for every
incorrect answer 1 mark deducted. A student attempted all question. If answer of 45% questions are correct, then
find his score percentage.

T Tl 7, 80 dgfacedrd TeT B ol T 3eek & A, 3 3 BT ¢ AN Tl e Iec & AT 1 3 e | U oI &
Tl geaT &7 oA T | AT 45% AT & Ieax TEY §, A 3T 3w wiged g #

24.33%
A

24.33%

33.33%
B

33.33%

31.5%
C

31.5%

26.67%
D

26.67%

Correct Ans : D

Subject : General Maths

Q.No: 78  The price of a certain article was raised by 20% in India. The consumption of the same
2421706 iticle was increased from 200 tons to 275 tons. By how much percent will the
expenditure on the article rise in India?

aRa # faxit Afad avq & A7a F1 20% aF der @ Swar 81 33 avq 1 wIa 200
T Y 275 aF d¢ A | oA F I/ & F TT W o= wfasa agalr gefe

A 63.75%
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63.75%
63.25%

63.25%
65%

65%

67.25%

67.25%
Correct Ans : C

Subject : General Maths

Q.No: 79  what is the value of 125% of 25% of 80?

2421709

80 & 25% & 125% T Al F4T %?.

50
A

50

25
B

25

20
C

20

40
D

40

Correct Ans : B

Subject : General Maths

Q.No: 80 An amount of Rs. 40000 is invested in a scheme of compound interast. If the rate of interest is 20% per annum, then what will be the total amount (in
2421772 pg.) obtained after 3 years?
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40000 T3 F TR BT IHgS S T Ao FI e o €1 af & B w) 20% viad §, @ 3 9 @16 v ga i (3 #) @@ g

Rs.57600
A

57600 %.

Rs.69120
B

69120 ¥.

Rs.52400
C

52400 %,

Rs.52360
D

52360 %.

Correct Ans : B

Subject : General Maths

Q.No: 81 i ; (n-m) (m=n) _ o
2421610 Simplify 1/1+a + 1/1+a ?

wWegd FY 1/1+a™ + 171+ = 2

0
A
0
172
B
172
1
o
1
D am=n
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am—n

Correct Ans : C
Subject : General Maths

Q.No: 82 . X _ ay+l v _ a9 )
sa21832 Clven 2% = 8" and 9" = 3*7, the value of x+y is

fearg2r =gt o =3*9ar , x+y@AAG

18
A

18

21
B

21

24
o

24

27
D

27

Correct Ans : D
Subject : General Maths

Q.No: 83 A can contains a mixture of two liquids A and B in the ratio 7 : 5. When 9 litres of mixture are drawn off and the can is filled with B, the ratio of A and B
2421943 pecomes 7 : 9. How many litres of liquid A was contained by the can initially?

THEFIH 7 : 5% oqud H &1 ¥a 5arf A R B F1 0 31 99 9 ez Hew 1 SR A 2 iR $7 31 B Y w1 o &, o A 3R B &7 S 7 : 9 € Il 2

gEard 7 & F fhar dliey ava A fifda ure
10
A
10
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20
B

20

21
c

21

25
D

25

Correct Ans : C

Subject : General Maths

Q.No: 84 A vessel is filled with liquid, 3 parts of which are water and 5 parts syrup. How much of the mixture must be drawn off and replaced with water so that
2421944 the mixture may be half water and half syrup?

TP A A G W7 &, R 3 4 o ol 5y RRY &1 feior o1 e e Feten e =nfen ofR urt § sgen S ifee anfes s & sner ot SiR aner RRY &

wT?
1
3
A
1
3
1
4
B
1
4
1
5
(o
1
5
D 1
7
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1
7

Correct Ans : C
Subject : General Maths

%"\'2"2‘0%51 Two person moving from point A to B at the same time with speed of 40km/h and
60km/h faster person first reach the point B and retumn towards A and meet the
slower person at the certain distance from point B. If distance between A and B is
250km. Find the distance of meeting point from point B.

o @fad fdg AT B 1 3R & & §59 W 40 Rpeveer @ 60 ffvder & T ¥ 9@a 8
&S "o drenm cafdd Uger B fdg W ugwr § iR @it A e wein § ap Ued A 4y
e aer cafea & fear 81 A AT B F dr 250 e fr g & & O =eer aren
cafed O Tert e cafad ¥ g B ¥ Tl gt W Freem

50 km
A

so f&t

500 km
B

500 fdft

300 km
C

300 ferft

30 km
D

30 fait

Correct Ans : A
Subject : General Maths

Q.No: 86 . i .
2413‘117 FrefafEe ¥ = ey w9 o1 9 S €7
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A & wfy
B 3rarfe iy
c gfe ufy
D 7oy iy

Correct Ans : A

Subject : General Hindi

Q:No: 87 propfam 9 wg Wi @1 99 FIRT-

2414156
A R
B TTSEr
c Eut

D gfeas

Correct Ans : €

Subject : General Hindi

QMo: 88 ar el 3 g @1 g w11 Pt 2 & R fara o e &2

2414177
A T e
B yFHE frar
C s frar
D wronde fran

Correct Ans : C

Subject : General Hindi

QMNo: 89 Preaferi 7 9, et Tt o1 w0 w8 WA ¥E 8 3% 9 v B

2414194
A ferm

B forar
C o
D S

Correct Ans : D

Subject : General Hindi
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QNo: 90 et A & Toz-gm FAa-ea ¥ ol ¥E F1 T PIRIT-

2414269

A ST — e g
B PIEER - T I
C Fwe - w1
D i - ufaw

Correct Ans : B
Subject : General Hindi

QNo: 91 propfd A oreuyor auf -9 27

2414361
A "
B @, T
C 9
D 3,3

Correct Ans : B
Subject : General Hindi

Q:No: 92 propefam f § ogg o A g 1 9 FIR-

2414416
A AN
B e
c REICIG]
D AR

Correct Ans : C
Subject : General Hindi

QNo: 93 profifee § @ FA-¥ T, TSR IR U R R 7 87

2414491

A SRR

B SRR
c FegTet
D R waws

Correct Ans : C
Subject : General Hindi
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Q.No: 94 WA 7 PR THe T & R o, Fm o STwm__ HE@3l
2414563
T

qgadT
Ramm

wFaa u fgam

Correct Ans : B

A
B
Cc
D
Subject : General Hindi

Q.No: 85 . ’
2114553 of2; e 313, O 999 ga arey | wged B 2l

A ST YFPT
B HTAFT YABI
c Ul YgBTe

D EnChER GEad

Correct Ans : D

Subject : General Hindi

N ey RIEHTE 3T W 3R A I 3
A ARSI

B ESIGH

C e

D biiceal

Correct Ans : A

Subject : General Hindi

Q.No: 97 ‘
2414730 Frefirfas & 9§ o awy &1 997 sife-

A 3T Hiqey Ioorae €l
B AT AT Pt IS B
c Tt e # fea s B2
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D 3w ¢ % & oy weraar 7 o w@1l

Correct Ans : D

Subject : General Hindi

QNo: 98 i & ) e ar § sraaRvr R 1 T R &7

2414779
A TS, o7, BT AR GUT A 75 fy g 21

B “Higr’ $t Hoa 1 Sfam o Has) ageayyf HereTer 5T o €1
c U TG A R

D ToTofrio =UeAI TR fAwm)

Correct Ans : B

Subject : General Hindi

Q.No: 99 Frefifed & 9 arey & Yifd aaiw & R 9 g e et # 3 Ifa ger &1 994 -

2414829
o 7 o, 3 T P R S TR $ ¥ 9K T T T

A pERIEAEI]

B wers # uger

o 2dt ot

D BT Ufq A

Correct Ans : A

Subject : General Hindi

Q:No: 100 ety 3 ey Siiiae &7 o T 7 @ 3 T9RT & AR wER T 32

2414849
A 7 Y B A g, 7 1w ARet
B St 9t ermwg, IRt @ |

C 3@ H 309, 91T T 9 F W

D St iz T, st e SR

Correct Ans : A

Subject : General Hindi
Q.No: 101 What is the relation between velocity, wavelength and frequency?

2579120
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1, T e 9iR amgfyy % ig o Tey 7

A=clr
A

A=c/r

A=cl/f
B

A=c/f

A=c/h
Cc

A=c/h

A=h*c/f
D

A=h*c/f

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 102 Which of the following waves is used in the process of remote sensing?
2579121

gz HdeA @1 i | Fafafed # 3 fra a1 1w R s g2

Electric field
A
fega i
Sonar waves
B
R a4t
Gamma- rays
c
- et
D Electro-magnetic waves
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frgaa-gaehta a4l
Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 103 Which of the following is not a remote sensing principle?

2579122
e & § F9-w IR W3 fisia 7 &
Interaction of energy with satellite
A
IUUE F WY Sl ol S
Electromagnetic energy
B
fRgga et S
Electro-magnetic spectrum
c
Fogga-gawta A
Interaction of energy with atmosphere
D

TIATERT & |1y el @1 Ry e

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 104 which of the following wave has the shortest wavelength range?
2579123

ot dfa T S e fmea g ?

0.03 mm

0.03 mm
B 0.03 nm
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0.03 nm

0.03 m
c

0.03 m

0.03 km
D

0.03 km

Correct Ans : B
Subject : Civil Engg.{Diploma)

Q.No: 105 Among the following, which describes Stefan- Boltzmann formula?
2579124

foffEa & 3 - W6-sieeei T 51 gulT R 82

M=0o/T4
A

M=o/T4

M=0c-T4
B

M=0c-T4

M=0c+T4
C

M=oc+T4

M=0c*T4
D

M=0c*T4

Correct Ans : A
Subject : Civil Engg.(Diploma)
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Q.No: 106 Satellites in polar orbit are usually placed at an altitude of

2579125
s Fem N IUTE BT SR R AR W T T g
7-15 km
A
7-15 km
7000-15000 km
B
7000-15000 km
700-1500 km
C
700-1500 km
70-150 km
D
70-150 km

Correct Ans : C
Subject : Civil Engg.(Diploma)

Q.No: 107 What does the multiplying constant equal?

2579126
T R g s g 82
60
A
60
80
B
80
90
C
90
D 100
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100

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 108 What is an alternate name for the Stadia method?

2579127
=i dys o1 dFlers T W §?
Fixed hair method
A
frws fw fus
Movable hair method
B
T R A
Subtense method
c
waed Avs
Tangential method
D

Frwa Ay
Correct Ans : A

Subject : Civil Engg.(Diploma)
Q.No: 109 which of the following is the stadia interval factor?

2579128

fofafaa # & oF-w R siva IR 82
f+d

f+d
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f-d

f/i
c

£/1i

i/f
D

i/f

Correct Ans : C
Subject : Civil Engg.{Diploma)

Q.No: 110 Which of the following can be used to describe the formula for determining vertical distance when the staff is vertical and the line of sight is inclined:
2579129

T W dfead o N TR B v g 9, @ Sahr gl Rl e @ o 9ot 6 & g Fafafea {8 e swim e W wwa g
V=Kssin28/2+Csin 0

A
V=Kssin26/2 + Csin 6
V=Kscos268+Ccos 6
B
V=Kscos28+Ccos 0
V =Cssin20/2 +K cos 8
C
V==Cssin20/2 +Kcos 0
V=Kssin22 8+ Ccos 8
D

V=Kssin22 8+ CcosB
Correct Ans @ A
Subject : Civil Engg.(Diploma)

https:fimppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 571111

Page 57



4/23/23, 10:45 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

Q.No: 111 what is the value of the additive constant's range?

2579130
amers e & gt &1 A feaT &2
0.2to 0.3m

A
0.2¥0.3m
0.3 to 0.45m

B
0.390.45m
0.5 to 0.6m

C
0.590.6m
0.6to0 0.7m

D
0.6 0.7m

Correct Ans : B
Subject : Civil Engg.{Diploma)

Q.No: 112 Calculate the vertical distance between X and Y. When a tacheometer is setup at X and the readings on the staff at Y are 1.77m, 2.12m, 2.34m and the
2579131 jnclination of line of sight is -+ 10 9'. Take k = 100, ¢ = 0.3?

T8 X TR EPHHER TR S § R Y OF WP R AT 1.77m, 2.12m, 2.34m B § 3R = &7 W@ &7 goE + 10 9 8 8 7 X o) Y & 9 ) SR i 9
U H31 8l k = 100, ¢ = 0.3 §?

151 m

A
151 m
2.51m

B
2.51m
2.15m

c
2.15m
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1.15m

1.15m
Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 113 What is the most accurate tool made for calculating horizontal and vertical angles?

2579132
aftet 3R FHealeR B 1 7O F RiT G WEAF IIHRO 67
Survey chain
A
-
Dumpy level
B
it daat
Theodolite
c
Rriisiarse
Telescope
D
iy

Correct Ans : C

Subject : Civil Engg.{Diploma)

Q.No: 114 Which of the following tasks cannot be completed using a theodolite for surveying?
2579133

i ¥ 3 &7 o ol gdem F fou Raiase &1 97 $3% g T [T o w6 8?

Laying off horizontal angles

&fes T B @

B Locating points on lines
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Fanait R fagait &1 war e
Prolonging survey lines
Cc
HAEIT ATET T AT AT
Measuring horizontal distances
D

St g e
Correct Ans : D
Subject : Civil Engg.{Diploma)

Q.No: 115 Which of the following cannot be done with the help of theodolite in surveying?
2579134

Fdeor & fagEemge o Termar 3 e § 3 @ g o wwar 22
Establishing grades

A
U8 R FAT
Determining the difference in elevation
B
FaTg # SR @ Frufor
Setting out curves
o
Fod He FET
Determining the area of ground
D

i & & o1 fufvor

Correct Ans : D

Subject : Civil Engg.{Diploma)

Q.No: 116 In theodolites, two standards resemble the letter
2579135
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friEarey #, 4 AFe 3R e e 31

u
A

v
B

v
C

A
D

A

Correct Ans : D
Subject : Civil Engg.{Diploma)

Q.No: 117 How many types of theodolites?

2579136
EaEe a7 voR & g 22
2
A
B
3
C
4
D
5

Correct Ans : A
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Subject : Civil Engg.(Diploma)

Q.No: 118 survey deals with the mapping of large water bodies.
2579139
_ wdar &S o Pl i 3 W9eiE g
City surveying
A
TAET FAE0T
Hydrographic surveying
B
T WY (RIS H4er)
Earth surveying
o
gt e
None of the given options
D

few M fywedt & 9 1€ A
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 119 Determining quantities or providing sufficient data to plan structures such as roads and reservoirs is called

2579142
ST SR SRl SR WA 8t T e & R e Py e an woiw 3o vem wRe HEA 5
Topographic surveying
A
wEplE wdar
Engineering surveying
B
efifafr wdem
o) Military surveying
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J=q Fderor

Mine surveying

@M/ AT (Mine) Tdam
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 120 The alternate name of Trapezoidal Formula's is,

2579176
TR @A SRS AT
Simpson’s rule
A
Rrvargs ot fraw
Co-ordinate method
B
w=ag fafyr
Prismoidal method
(o
Previgsa fafy
Average end area method
D

e o & fafy
Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 121 How to permanently close the septic tank?
2580337

3w oF B wrlt =9 I F 55 F7

A Remove the tank

https:fimppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 63/111

Page 63



4/23/23, 10:45 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

& frrd

Fill mud in to the tank
B

T F Tl W

Fill the tank with water
L&

o F ureh

Close the tank with a lid
D

TFH & WY TP dg DY
Correct Ans : B
Subject : Civil Engg.(Diploma)

Q.No: 122 Which of the following is not an estimation method?

2580342
Fofifea & § 9 W1 ogAm R T ¥
Centre line method
A
Hex wme fafer
Long and Short wall method
B
wdt 3R o S fofy
Crossing method
G
it fafy
Line Estimation
D

T BT AFAHA
Correct Ans : D
Subject : Civil Engg.(Diploma)
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Q.No: 123 Which of the following is not related to mid-section formula?
2580346

Frofefed # 4 $F  ne-gs 97 A geita 7 &2

The mean depth is the average of two consecutive sections' depths

A
T TERTE AR & vl &Y s T offed ¥
The average depth is used to compute the area of midsections
B
A RIS T IuUT SRR & & @ T T § g far s §
The earth work volume is derived by multiplying the mid-section area by the distance between the two original sections
[of
gedt g T & HE T & 99 9 g @ w-ds 87 B qun oXd w9 o €
The volume of the earth work is estimated by multiplying the area of the midsection by the distance between the two sections
D

i & ST B A F gAE § wil & B gl A Predewa F &7 ) o RS R S §

Correct Ans : C
Subject : Civil Engg.(Diploma)

Q.No: 124 How to make a trapezoidal footing?
2580347

2UETEST GeT (trapezoidal footing) 8 ST & ?

Cuboid

A
YAIH &R
Pyramid

B
Rrfirs g

C Cuboid and Pyramid
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Ty iR frifire gwr

Cuboid and truncated pyramid

T 3R wer g fRifis gwr
Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 125 What is a trapezoidal footing used for?
2580348

ST e T §?

Carry load

s a

Carry two columns of equal loads

TER HR & & WH & oY

Carry two columns of unequal loads

SR YR P & W A ST

Carry equal loads

AR YR TS
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 126 Which of the following offers a sense of security and protection?

2580350
fofafen & 3 7 wRen 3R TR I YT WS TR 82
Water Tank

A
o} B Ft
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Concrete wall

B
e ot dar
Boundary wall
c
T
Partition wall
D

favem @t daR

Correct Ans : C
Subject : Civil Engg.(Diploma)

Q.No: 127 Which of the following is an application of simpson’s rule?

2580351
Fofufea & & oW 1 Rigws & Fag &1 seyEm 87
Calculation of vessel’s displacement
A
o & fowiTes $t ToET
Total wetted surface area
B
T e wdE 4
Calculation of longitudinal center of buoyancy of the hull
o
THaR Y SoTd & egee I @ o
All of the given options
D

few mo Wit fawew

Correct Ans : D
Subject : Civil Engg.(Diplema)

Q.No: 128 In which of the following a brick is not used?
2580352

https:fimppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 67/111

Page 67



4/23/23, 10:45 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

Fmfefea & § R $e o1 Sudi = s o &7

Construction of walls

A
ARt &1 ffor
Construction of floors
B
&g &1 fmfor
Construction of plastic wall
C
wfies @1 dar o1 i
Making Khoa
D
G T

Correct Ans : C

Subject : Civil Engg.{Diploma)

Q.No: 129 Elevated water tank is?

2580353
TRes T &1 <l 87
Contains water at ground level
A
i TR RO de
Contains water at a certain height
B
o i eré W ur  d
Made of plastic
c
wWiE FaT
D None of the given options
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fow g faeedt § § =1 7l

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 130 Which of the following tank used for storing sludge?
2580356

e & 4 e 2 &1 ST Fas F YerRw % R R s 2

Water Tank
A

or+ft it gt

Septic Tank
B

e &w

Fuel Tank
c

wE &

Under Ground water tank
D

HETTIE U @t Et
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 131 which one of the following is not a purpose of building valuation?
2580358

Fofafen # § oW qewd @ w1 3w = 8

Salvage Value

A
FAR e
B Book Value
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JHF e

Market Value
c

IR e

Square Value
D

il e
Correct Ans : D
Subject : Civil Engg.{Diploma)

Q.No: 132 Inthe , the net income from the building is calculated by deducting all the outgoings from gross rent.
2580359

B, 43 ¥ 97 Ol Y g B AT Yo g B QWi o0 Y aere @ St 21

Direct Comparison with Capital Value

A
Yoft T & W Wee gt
Valuation Based on Profit
B
Y F YR W qedia
Rental Method of Valuation
C
b cEka Rt krica
Valuation Based on Cost
D

AFTd & TR W Yedid=
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 133 About % of a building's construction cost may be considered its scrap value.
2580362
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foreht v =t Fmior e 1 T % I G Fed AT 5 Tl
10%

10%

15%

15%
17%

17%
13%

13%
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 134 Companies may depreciate their assets fully to $0 because the is so minimal.
2580366
Gyt SRt HaRy &1 g TR F $0 T Heuerd IR Wbl § Rl T R 3
Book Value
A
IIF e
Salvage Value
B
SR e
Scrap value
o
AR qew
Market Value
D

IR e
Correct Ans : B
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Subject : Civil Engg.(Diploma)
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Q.No: 135 For the purpose of taxation, a property is assessed for its monetary worth, This ascertained price is known as

2580369

FUYH F I 9, TP YRl 31 qiie S99 AP 95 & R R o 31 39 Pt Siva o7 F w9 § o o

Assessed Value

TR

Cooling Value

waes 1=

Multiplying Value

U uH

Carrying Value

o P

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 136
2580370

This value takes into consideration comparable home sales, location, and other factors. Which value is this?

g A GO W A, R R 1 TR 3 o § WG | 98 B W g 87

Market Value

TR Ied

Book Value

I HA

Assessed Value
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RS

Salvage Value

SIR &
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 137 value may be lower for a property if you are an owner-occupant as opposed to a landlord.
2580372
T o T " Wi ¥ i waRe- e e i duhit R TEengamasl
Market Value
A
ISR
Assessed Value
B
TS P
Book Value
[
IR T
Salvage Value
D

SaR T
Correct Ans : B
Subject : Civil Engg.(Diploma)

Q.No: 138 When interest rates cannot reasonably be predicted, the method is generally undesirable.
2580375
E S & 1 GRS T S S W g, o SR vy e gl 81
A Corpus Fund
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FIH 3
Building Fund
B
g v
Sinking Fund
[of
wor mie Al
Propreitary Fund
D

wafira faftr

Correct Ans : C
Subject : Civil Engg.(Diploma)

Q.No: 139 Which one of the following is not @ method to calculate depreciation?

2580378
el & ¥ $H-W & e 1 T B3 1l T g
Constant Percentage Method
A
Fra vt fafer
Sinking Fund Method
B
R ws faftr
Quantity Survey Method
G
wE wder fafy
Linking Method
D

fifer faftr
Correct Ans : D

Subject : Civil Engg.(Diploma)
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Q.No: 140 Scrap is

2580385

sy

Trash value
A

PRI

Important thing
B

Hgwqol

Useful thing
[o

IuEntt g

Helpful thing
D

Iugnft arq

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 141 The element that is dependent on the terrain's depressions and contributes to water logging is

2580433
T T ST Y- & T R PR ¥ ofR Sror-omre # diee 3T Y, 98 @
Excessive Rains
A
oreafie auf
Impervious Obstruction
B
i wfediy
C Inadequate Surface Drainage
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syt wag e fremwdt

Irregular Topography

sifafia el
Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 142 The element that worries about the proliferation of weeds is:
2580434

g O S TR-T9GN & TER &1 AT a7 8, 98 8

Seepage of Water through the Canals

A
TRl & mww |/ Ut o1 e
Submergence due to Floods
B
g & HIROT Sy
Over and Intensive Irrigation
o
i oY e R
Excessive Rains
D

arafie auf

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 143 Which component, if any, causes waterlogging because of obstruction?
2580437

PH-H Uew, e PIg 5, HARY & PR TALRIG BT FRO &1 87

Inadequate Natural Drainage

i mgfaw o frertt
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Flat Topography

B

A RATPi

Impervious Obstruction
c

i wfRRtY

Over and Intensive Irrigation
D

i ofR e R

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 144 Which element enters the picture when there is a less permeable substratum?

2580438
T YR YR B T D o1 7 e 3 73w & §7
Impervious Obstruction
A
arie wfediy
Flat Topography
B
A RIS
Excessive Rains
o
st auf
Inadequate Natural Drainage
D

saf| mfaw wa Ferft
Correct Ans : D
Subject : Civil Engg.{Diplema)

Q.No: 145 When used as an example, what aspect of the canal creates waterlogging?
2580439
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8 TP ATV I w0 & FUURT R San 3,718 ¥ 5 uee) § oenRE g §7

Seepage of Water through the Canals

A
el & w1 | U o1 e
Seepage of Water from the High Lands
B
o= yfr & wrht w1 frae
Over and Intensive Irrigation
C
i SR e R
Excessive Rains
D

3rafis auf

Correct Ans : A

Subject : Civil Engg.{Diploma)

Q.No: 146 Which of the following seasons has the highest rate of free water evaporation?
2580441

e & § e dem & goa o aedfiew 1 ) Sa ofie gt 27

Autumn
A
T FY
Winter
B
wdf
Summer
c
it
D Spring
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CLiG)

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 147 What is the Unit of Rate of rainfall?

2580442
asf & R P §HIE 1 F?
Kilometers
A
fereiiey
Millimeters
B
forefiefies
Meters
c
Hiex
Centimeter
D
e

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 148 Any particular station's annual rainfall ranges from

2580444
fash ok Ry &t aiftfe anf FEE
Year to Year
A
T ¥ I
B Month to month
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HEH & qEH
Quarterly
c
ELITE
Weekly basis
D

AR ® 3TUR
Correct Ans : A
Subject : Civil Engg.{Diploma)

Q.No: 149 Measurement of intensity of rainfall by which instrument ?
2580445

aul Ft daa &1 [ g O gR e Sar 7

Hydrometer

HEEILIE

Continuously recording gauge

AR RepifeT

Seismometer

Hreinfier

Anemometer

s i e

Correct Ans : B

Subject : Civil Engg.{Diploma)

Q.No: 150 When evaluating , the relationship between the rainstorm's area and average intensity is considered.
2580446

https:fimppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

Page 80

80/111



4/23/23, 10:45 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx
P ORI FRe THG T F 4 SR e e & g wey w R b o )

Amount of wind

A
T A
Amount of water
B
areit @ W
Amount of duration of rain
[o
quf &t srafl @ wEr
Amount of rain
D

aaf &t amEr

Correct Ans : D

Subject : Civil Engg.({Diploma)

Q.No: 151 What is the formula of intensity of rainfall ?

2580447
auf ot < 1 I @ ¥
_Tx¢
=%
A
] =Ix¢
R
[= R
T+C
B
=R
=T
¢ [ = 4R
c
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Correct Ans : B
Subject : Civil Engg.(Diploma)

Q.No: 152 How are all the precipitations measure ?

2580448
Toft anfor 5 W o9 2
Width of area
A
&= it e
Vertical depth
B
CEECRIGHE]
At slope
C
-~ °Ed
Horizontal area
D

&t &

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 153 How many types of rain gauges?
2580449

e fhas UeR & g ¥
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4
A

4
B

2

5
C

3
D

3

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 154 which factors are used to compute precipitation?

2580450
T 1 M & oY o PR @1 I e S &2
Based on the vegetation of the area
A
&7 3 IR & YR R
Based on hydrological aspect
B
- Ry Hedt veew & U W
Based on weather forecast
C
T qEigaE ¥ YR W
Based on climatic conditions
D

Srerarg qivfRufordt & amuR
Correct Ans : B
Subject : Civil Engg.{Diploma)
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Q.No: 155 Vapour transforms into snow or water when

2580452
areg o a1 gt & Se o 8 S5
When there is rise in Humidity
A
o omken # g g &
Cooled below Dew point
B
st fag @ éa1
When cooled Freezing point
c
fowiw fag @ dat
At Frost point
D

R g w
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 156 What is the energy source for precipitation and evaporation?

2580453
s SR el & o S wid w87
Thermal energy
A
A St
Perennial energy
B
wmft St
C Kinetic energy
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e Sl

Gravitational energy

e ot
Correct Ans : B
Subject : Civil Engg.(Diploma)

Q.No: 157 Which of the following is the Input of the energy into the hydrological cycle
2580455

Frafara § @ WS- 9 § S #130e §

Sun
A

ki

Wind
B

Tal

Head
[o

ofid

Water
D

e

Correct Ans : A

Subject : Civil Engg.{Diploma)

Q.No: 158 Unit of runoff is
2580458

ST FI 5T §

m'/s

m¥/s
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Day-sec meter

B
fe-drs it
Bothaandb
c
a iR b AT
None of the given options
D

few M fywedt & A B 79
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 159 The location of the catchment area in relation to the dam

2580459
ity & wew J w50 &4 o ™H
Opposite to the Dam Head
A
Tty & 1 & e fig &
Behind the dam
B
Ty & G5
Right beneath the dam
o
Tty ¥ e A
Front of dam
D

iy F Ay
Correct Ans : B
Subject : Civil Engg.{Diploma)

Q.No: 160 Among the following Which of the following dam is partly earthen and partly rockfill?
2580462
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Frafafaa & & #F @ aly sifte w1 & frgt oiR ver & Wi iy a1 gon @2

Koyna dam
A
FEAI Y
Tehri dam
B
fegdt =iy
Sardar Sarovar dam
C
AER TR T
Bhakra dam
D
WSt Y

Correct Ans : A
Subject : Civil Engg.{Diploma)

Q.No: 161 According to 1S-800, gross diameter of rivets of nominal diameter up to 25mm is-

2580688
1S-800 ¥ 3ER 25 firft 9 & I oM & ey & 99w a9 -
Nominal diameter + 1.5mm
A
A A + 1.5mm
Nominal diameter + 2mm
B
HUTH AR + 2mm
Nominal diameter + 0.5mm
[o
A A + 0.5mm
D Nominal diameter + 1mm
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HHA AR + 1mm

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 162 According to IS-800, for rivets of diameter ‘d’ ,minimum rivet pitch will be -

2580689
1S-800 ¥ SR, =019 'd' ¥ dew ¥ frg, =graw Rae fa gnft -
2d

A
2d
1.5d

B
1.5d
2.5d

c
2.5d
3d

o)
3d

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 163 For single cover butt joints where thickness of thinner plate is 't', thickness of cover plate is taken as-
2580690

R TR T2 Fisey & R et gae We F AT 't ¥, TR QI & HIEr B 53U THR R 9w 8-
1.5t

1.5t
B 1.25t
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1.25t
2t
C
2t
2.25¢t
D
2,25t

Correct Ans : B
Subject : Civil Engg.{Diploma)

Q.No: 164 For double cover butt joints, thickness of each cover plate is taken as -

2580691
FAE HR T€ IS1 & Y Tl Tael @e @t Hers & §, TR WE F1 A 39 TER off g -
5/8t

A
5/8t
8/5t

B
8/5t
3/5t

c
3/5t
5/3t

D
5/3t

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 165 Rivet value is defined as -
2580692
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fXde ey o 59 UeR ufeufte e T ® -

minimum of shearing and bearing strength of rivet

A
T 3 <Ham wdA 3R R i
bearing strength of rivet

B
e & uror il
shearing strength of rivet

[o
frde =t =gam o wiew
strength of joint

D

Gitg B} dred

Correct Ans : A

Subject : Civil Engg.{Diploma)

Q.No: 166 No. of rivets(n) to be used for a joint under an imposed load ‘F’ is calculated as (where R is rivet value) -
2580693

TN Y HR P 3 e SYEd & T Suu b SIn At Raew o e @ v 3 e @1 ol ¥ (ol R R degR) -

n=F/R
A

n=F/R

n=R
B

n=R

n=R/F
o

n =R/F

n=FxR
D

n=FXxR

Correct Ans : A
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Subject : Civil Engg.(Diploma)

Q.No: 167 What will be the effective length of a column of length L (compression member) fixed at both ends i.e. restrained in position and rotation?

2580694
TF W o L (Siie Taw) 1w o o gt o S RRT R aw art Ruf o d2m & ufedfie 37
0.80L

A
0.80L
1.20L

B
1.20L
2L

C
2L
0.65L

D
0.65L

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 168 What will be the effective length of a column of length L (compression member) fixed at one end and hinged at other end i.e. restrained in position but
2580695 ot in rotation?

L (SiST Hew) &1 e & U K &1 FHIEH ders a1 8l o U BR T dad iR g8t BR W RE) g9 3 o R A dafia § afa 32w F 7 &

0.80L

A
0.80L
1.20L

B
1.20L

c 2L
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2L
0.65L

0.65L
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 169 Slenderness ratio of a compression member is defined as:

2580696
% YhST AR (compression member) T TaT 3IH (Slenderness ratio) TRHIAE frm mar §:
I/r
A
I/r
r/l
B
r/l
Ixr
(o)
Ixr
0.501x%r
D
0501 xr

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 170 Slenderness ratio of a compression member is defined as-
2580697

T OIS TEw BT A AT S R -
A I/r
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I/r
r/l

r/l

Ixr

Ixr

0.501Ixr

0.501%r
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 171 Maximum Slenderness ratio of a compression member carrying loads resulting from dead load and live load is-

2580698
33 18 3R TIRT OIS F UNUMHEEY YR 989 XA 910 Ui Ue &1 iR agal Ui 8-
250
A
250
180
B
180
120
c
120
350
D
350

Correct Ans : B

Subject : Civil Engg.(Diploma)
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Q.No: 172 Maximum Slenderness ratio of a compression member carrying loads resulting from wind or seismic load provided the deformation of such members
2580699 gges not adversely effect the stress in any part of member-

B9 91 Y@ YR F URUHRGEY HR 987 S a) HhgT Tas &7 Sfdad T U 9 16 U8 el @) fagfa wew & i of e ¥ o 9 wfaga w0 @
uifad T HY-

250
250
180
120

120
350

350
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 173 According to IS-800, permissible average shear stress in beam is calculated as-
2580700

15-800 ¥ R & & SfAT SRTd Syl HEd & 70T Y o 8-
0.4f;

0.4f;

B 0.45f
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0.45 £

0.5f
Cc

0.5

0.65f;
D

0.65f;

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 174 According to IS-800, permissible deflection for simply supported beam of effective span L is taken as-
2580701

1S-800 ¥ SR, W ©fd di Tl e L & forg orgig Rago &) 331 weR R s 8-

2L/325
A
2L/325
L/325
B
L/325
0.5L/325
C
0.5L/325
3L/325
D
3L/325

Correct Ans : B
Subject : Civil Engg.{Diploma)

Q.No: 175 1In designing of beam, self weight of beam is calculated as-
2580702
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& & fewrsim 3, 9 % @ aom F o B ad 8-
(Imposed load x Effective span)/300

A
(AT T2 TS x AL $)/300
{Imposed load x Effective span)/250
B
(T T S x WIE WA)/250
(Imposed load x Effective span)/325
C
(T TR S x M €A)/325
(Imposed load x Effective span)/200
D

(TTT T TS x WHT TA)/200
Correct Ans : A
Subject : Civil Engg.(Diploma)

35%%7107 36 As per IS-800 in compression, permissible bending stress is calculated as (where Fy = Yield Stress)-

idise # 1S-800 & 37K, 1A dehat Sfcidel &l AT I SATCH & (STGT Fy = WR1eTa Wicaren-

0.8F,
A
0.8F,
0.5F,
B
01.5F,
0.66F,
[of
0.66Fy
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0.75F,

0.75F,

Correct Ans : C
Subject : Civil Engg.(Diploma)

Q.No: 177 Maximum shear stress in beam is of Average shear stress.
2580704

W F sfiwan HUET TR S ST uRe @ g

2/3
A

2/3

3/2
B

3/2

3/4
c

3/4

5/3
D

5/3

Correct Ans : B
Subject : Civil Engg.(Diplema)

Q.No: 178 The effective span ‘I’ of a beam of nominal span 'L’ and bearing length ‘b"
2580705

& U1 'L 3R R &g B F | a1 v -
I=L+b

B I=L-b
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I=L-b

I=Lxb

Il=Lxb
I=L/b

I=L/b

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 179 Section modulus of a beam is calculated as-

2580710

&1 % aTpia WS B T 39 TR B T 8-

Moment of resistance / permissible bending stress

T Yl / IRT g widwa

Permissible bending stress / Moment of resistance

IR g wivae /7 7w amgef

Moment of resistance x permissible bending stress

3R 9o wiaae x T St

Moment of resistance / permissible shear stress

A oYl / HTHY Ul wiaad

Correct Ans : A

Subject : Civil Engg.({Diploma)

Q.No: 180 Section modulus of a beam ‘Z’ is 778.9 x 10 mm? and pemnissible bending stress is 165

2580711 N/mm2Moment ofresistance of beam will be-
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U 1o @l YaIeT ATUIH 'Z' 778.9 x 103 mm? § 3R [0 daheT UTcae 165 Nimm? 81 16 &1

125.8 kN.m

125.8 kN.m
128.5 kN.m

128.5 kN.m
125.5 kN.m

125.5 kN.m
127.5 kN.m

127.5 kN.m
Correct Ans : B
Subject : Civil Engg.(Diploma)

Q.No: 181 For a T beam with heavy loads the effective depth is takenas ____

2583286
HRT HR a1 & A & g T TeRiE 1 & w0 F o 9 3
1/10 of the span
A
WA T 1/10
1/12 of the span
B
W@ 1/12
1/15 of the span
(o
WA FT1/15
D 1/18 of the span
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W FT 1/18

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 182 The most economical type of the RCC beam

2583288

SR i BT T fFErEd ueR

singly reinforced rectangular beam
A

FS yafer smuaeTY d

singly reinforced T-beam
B

A& yaferd -

doubly reinforced rectangular beam
c

SN Wafre aTeR §iF

doubly reinforced T-beam
D

ST wafe -t
Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 183 For reinforced concrete and plain concrete footings on piles thickness of edge shall not be less than

2583289
IS TR AR derie 3R WE Hie ¥ fFRI @ e 5 T ) Afgw
200 mm
A
200 fieft
B 250 mm
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250 firdy

150 mm
C

150 it

300 mm
D

300 fandt

Correct Ans : D
Subject : Civil Engg.(Diplema)

Q.No: 184 A floor slab supported directly on the column is called:

2583290
H R WY gl 0 T W BT e 9 ¢
Ribbed slab
A
fres =
Flat slab
B
wIT ®ig
Flat slab Grid
C
wie wa firg
Floor
D
Gol

Correct Ans : C

Subject : Civil Engg.({Diploma)

Q.No: 185 In an isolated reinforced concrete footing of effective depth d, the stress in the punching shear is checked:
2583292
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THI TR d & TP TUS VR Swie pien H, i SRR # oe 39 S o1 9wl o

at the Centre of the column

A

wu & FEH

at the face of the column
B

Y & g9

at a distance d/2 away from the face of the column
[of

WY FAEAd/2 B

at a distance d away from the centre of the column
D

WHFFRAdR AW
Correct Ans : C

Subject : Civil Engg.{Diploma)

Q.No: 186 A compression member with fixed at one end & hinged at other end, has a centre-to-centre length of 5m. The recommended effective length of the
2583293 column is-

T YRS 3a0d B $5-0-0% 9Ty 5 WeX Tl 1 75 T IR TR W o7 3R g8 BR W P gof ¥TIwy &1 sreifia widt 9aTg -

4.0m
A
4.0 ¥R
2.8 m
B
2.8 #ie¥
3.2m
c
3.2 fiew
D 2.6 m
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2.6 HieX

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 187 A black soil is popularly known as soil.
2583834

wre ot wr _ frdt & =g A oft & e 21

Bhangar
A

HIR

Humus
B

UROT

crystalline
C

freeeiia

Regur
D

R

Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 188 Soil in a three-phase system comprises of

2583835
& RO woreh & ot & et 2
sand, gravel and air
A
¥, ot SR gar
solids, water and air
B

B, 7 &R A
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solids and water only

Faa 31 AT TR

solids and air only

Fad 31 SR a1g
Correct Ans : B
Subject : Civil Engg.{Diploma)

Q.No: 189 The phase diagram is also known as

2583836
T G F F w0 H i 5 o §
soil grain diagram
A
TR AT S
block diagram
B
A HNE
constituents diagram
Cc
e SR
element diagram
D

q N
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 190 The coefficient of uniformity (C,) is the ratio of
2583867

THEIAT I IOTF (Cy) T IS &
A Dgg and D]q
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Dm3ﬁTDm

Djp and Dyg

Dy #R Dy
Dy and D3

Dy H Dy
Dyeand Dy

Dy ¥R Djy

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 191 The curve situated at the right side of the particle size distribution curve is

2583868
P HER R o % &k IR e o &
Coarse-grained soil
A
i g arelt Rt
Fine-grained soil
B
i e forgt
both Coarse-grained soil and Fine-grained soil
C
e 7 ardt firgt sfe Wt gt el v gt
None of the mentioned
D

Sfearaa # 4 o5 78T

Correct Ans : A
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Subject : Civil Engg.(Diploma)

Q.No: 192 1In particle size distribution curve, a flat portion curve represents

2583869
TE HOC WP AT I, HU AR R aw 8§ &1 HfaFRE Fee §
Intermediate size particle are missing
A
ATl ATHR F DT iR §
Intermediate size particles are present
B
AT TR & BT WG &
Smaller size particle are present
o
R PR & B0 HE T &
Large size particles are present
D

T3 HHR F PUAERE G §

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 193 The shape of the particle size curve is represented by

2583870
&0 BRI BT PR BRI S e @
Effective size
A
WHTE ST
Effective diameter
B
ATt A
C Uniform coefficient
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A UIE

Co-efficient of curvature
gl TS

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 194 The seepage pressure p, is given by

2583917
Rewagaap_ cawiiarsmarg
hyw

A
hye
hfpe

B
R
htye

[
hte
Bt

D
bt

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 195 The seepage force per unit volume ‘i’ is given by

2583918
o e sme Yy e e grifim e ®
A j =lyezA
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j =irezA

j=izA
B

j=izA

i =ite
c

j=ire

j=zA
D

j=zA

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 196 The seepage pressure always acts
2583919

frma 1 am gam T Bl §
in the direction of flow
A
varg @ fem 3
opposite to direction of flow
B
arE B fen & fawdta
perpendicular to direction of flow
C
aTg i e & oaad
tangential to direction of flow
D

yarg ot femm & w=ivdia

Correct Ans : A
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Subject : Civil Engg.(Diploma)

Q.No: 197 The property of soil mass pertaining to its susceptibility to decrease in volume under pressure is

2583920
&arg & oge § ot o aeRiaar § el B & sorme & qu 3
compression
A
wdte
compressibility
B
wdfteTar
tension
o
GEIC]
consolidation
D

GecTd

Correct Ans : B
Subject : Civil Engg.(Diploma)

Q.No: 198 The major principal stress 1 in in passive state
2583966

AfEy sae A AEE WA aad ol FIGWwE

herizontal direction

A
aiferet fem
vertical direction
B
daad fmm
o can be both vertical and horizontal direction
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daaa 3k aferr AT = & vt &

in no direction

et ot fomm 3 €Y

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 199 The ratio of horizontal stress oy, to vertcal stress G, is

2583967
st yiaae o, F Fearer 9faae o, &7 T &
coefficient of earth pressure
A
ot % gare =1 Ui
coefficient of volume change
B
TG TR BT UIiE
coefficient of compressibility
Cc
wfteTar 31 IS
coefficient of consolidation
D

GECEEaieicd
Correct Ans : A
Subject : Civil Engg.{Diploma)

Q.No: 200 The retaining wall moves during the active state of plastic equilibrium.
2583968

WReE Te Bl WY SR ¥ IRA fRfm 3 LG

A towards the fill
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GEIE I
away from the fill
B
[WAR
does not change its position
L&
et FRufey =t et &
remains in equilibrium
D

Hger 9 vea §
Correct Ans : B
Subject : Civil Engg.{Diploma)
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